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Topic:- General Knowledge and Logical Knowledge

1) Most important river island in Madhya Pradesh is / H& u%'\’r o aad W q‘(ﬁ ﬁt[ %
1. Omkareshwar / 3PREAT
2. Nauradehi / fil?léél

3. Kalbhairava / BTAHRG
4. Wainganga / CERR

Correct Answer :-

« Omkareshwar / ATHRIGR

2) If GJIH is coded DGFE, then how is BEDC coded? / Tf¢ GJIH &I DGFE ¥ ®ifSd fovar Sirar g, o
BEDC & $3 ®iied fHar a2

1. YBAZ
2. ONPM
3. NOPM

4. MNOP

Correct Answer :-

» YBAZ

3) was elected as the Vice-President of the Constituent Assembly / P AU IHT BT
SUTHE T 14T AT

1. Radhakrishnan / T8 [YTH W9
2. Rajendra Prasad /X I TG
3. B R Ambedkar / & 3R 3FESHI
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Correct Answer :-

» H C Mukherjee /@?ﬁw

4) Telangana became India’s 29™ State in / AT = T § URA &1 29aT XTST g-T:
1. 2013
2.2014
3.2012

4. 2011

Correct Answer :-
« 2014

5) In Dubai International Film Festival 2014, who among the following artists was awarded Lifetime

Achievement Award? / §ds S[eRIP 1T fthed AgIcHd 2014 H, i S| & 9 5 argwersd srfiade
REPR A YR b1 171 UT?

1. Asha Bhonsle / 3R] i
2. Manoj Kumar / WW
3. Lata Mangeshkar / <Idl TR

4. Amitabh Bachchan / THTTH §=

Correct Answer :-

« Asha Bhonsle / 3HIRIT yiga

6) Orchha is a royal town located at river bank of / 3BT TUdh '-‘!Tlﬁ DT % S| =|Tﬁ R R %I
1. Tawa / ddTl
2. Son /|

3. Barna / a=A[
4, Betwa/a?l?ﬂ

Correct Answer :-

. Betwa/a?l?ﬂ

7) o
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1. Khandwa / 9USd]
2. Katni / ®e-t
3. Seoni / g+t

4. Agar Malwa / TR HICTdT

Correct Answer :-

e Khandwa / 9GI0Sd[

8) In which state is the Kalakshetra Foundation based? / Wi‘aﬁ wreexH foa I # fRa %?

1. Tamil Nadu / il(_'i'_'l@
2. Maharashtra / HERTY
3. Rajasthan / XTSTRIH

4. West Bengal / qig| e

Correct Answer :-

e Tamil Nadu /d ﬁa:ug

9) The largest state by area in India is / m% %W A YR BT I CEIRIS %
1. Uttar Pradesh / 3TR UG

2. None of the above / quaﬂ oy ﬁ% :lﬁ

3. Maharashtra / HERIY

4. Madhya Pradesh / ] e

Correct Answer :-

« None of the above / Wﬁﬁmﬁ

10) The important latitude that passes through Madhya Pradesh is / 5 e ﬂTrRef arelt q?ﬁ'tﬂ’f
&g

1. Tropic of Capricorn / TH Xl

2. Tropic of Cancer / FP 3@

3. Arctic Circle / 3Thicd ad

4. Equator / HH‘EH@T

(4)



+ Tropic of Cancer / P T

11) Odissi is a classical dance of / Gﬁ%ﬁ, A Y DI AT I %:
1. Tamil Nadu / aiﬁa:ng

2. Andhra Pradesh / 3fT¢ ‘;I%RT
3. Odisha / 3NfSY
4, Kerala / P

Correct Answer :-

e QOdisha/ 3%”3%

12) Who among the following was the Chairman of the Second Administrative Reforms Commission? /g

B I B G- YRS GUR STIRT BT A& UT?
1. Veerappa Moily / dRT Hga
2. Natwar Singh / 9cd} ﬁl_s’

3. M.S. Gill / TH.9. fe
4. None of these / 3713?{ q ﬁé’ 7‘|_5;T

Correct Answer :-

« Veerappa Moily / AU HIZall

13) Prime Minister Narendra Modi’s Suit with his name embroidered in gold pinstripes was auctioned at
which of the following cities? / WHUTTHAT TRg A BT e forad 37d ATH &1 11 & Held Bid
FRigrRl @1 s 8, FaferRad el # @ frad ey fovar mar ur?

1. New Delhi / 8 facait

2. Mumbai / §8%
3. Varanasi / CIRE]

4, Surat / YId

Correct Answer :-

» Surat / gId

14) National Milk Day is celebrated in India on / HR<d q ?T@'q 1) feaw Y &1 wema strar %
(5)



2. November 26 / 26 TdeR
3. January 23 / 23 SHARI

4, June 5/ 59

Correct Answer :-

« November 26 / 26 FdaR

15) Jama Masjid’ Of Bhopal was built by / HTUTeT T SITHT ARG’ §9% §RT IaTIT 14T AT
1. Shah Jahan Begum / Rlg \—ﬂsﬁm

2. Dost Mohammed / GId Hig@g

3. Qudisiya Begum / PR ST

4. Baqi Mohammad Khan / g HIgHG W

Correct Answer :-

» Qudisiya Begum / Paar ST

16) A runner has to clear two hurdles to complete a race. The probability of clearing any hurdle is 80 %. What is
the probability that the runner will not be able to complete the race? / T YTIP B wa@:qwmﬁ %%q
S FTYTSH Y IR AT S| fdT oft S1e1 B UR B B Wi dn 0% ¢ 1 1 wiiiedn @ fp urae
SIS B RT P & & T8 ghIm?

1. 36%
2. 16%
3. 40%

4. 4%

Correct Answer :-

= 36%

17) Who is the Chief of the Indian Air Force? / WWW%W@?%’
1. Air Chief Marshall Arup Raha /Wiﬂtﬁw S ITET

2. Air Chief Marshall Anil Kumar Browne / TR 91t AIRId 3 HHR SIS

3. Air Chief Marshall Pradeep Naik/@?iﬁtﬁwmm

4. Air Chief Marshall B S Dhanoa / TR 91t TRl &Y T 13T
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« Air Chief Marshall B S Dhanoa / T0R Tt HTRId & TH g1
18) Find the odd one out: /Wﬁ'@iﬂﬁﬂﬂﬁ?:

1. Student and Teacher / BT T fR1efd

2. Criminals and Prison / 3{ORTHT TT HRIAH

3. Patient and Hospital /AT YT ST

4, Bird and Nest / T&ft TUT il

Correct Answer :-

« Student and Teacher / BT AdT R1efw

19) Find the odd one out: / T fIUH JTd HIfVTT:
1,2,6, 21, 89, 445

1. 89

2.6

3.21

4, 445

Correct Answer :-

20) If POWER is coded REWOP, then how is KNOWLEDGE coded? / Tf¢ POWER B REwop A Bifsd foar

SITeT 8, @ KNOWLEDGE B &8 ®ifSd fpar s
1, EGDEWLONK

2. EGDELWONK

3. EGDELWON

4. EGDELWNOK

Correct Answer :-

« EGDELWONK

21) Some managers are seated in a row in an order: Who among the following should be seated on seat 5? /
PO UaYD HH A T Ufdd 7 93 §: FFufafaa # 9 fed die-s w do1 8141 7w
(7)



1 ] | 1 —

".-" ".-" .‘_." ."‘.\' ..‘-" ..."' _‘"'l. ,.f".!‘ I,H" '.-’ |‘
1 I | | | | 1 I |
Wir Ganssh  [ir Indsr Br Fapd Iilr Mdancsh Mlr =

1. Mr. Praveen / 41 Tdl0T
2. Mr. Vikram / 41 fasp g
3. Mr. Qadir / 1 BT

4., Mr. Omkar / &t SHBR

Correct Answer :-

« Mr. Omkar / & 3SR

22) In a certain language, fil wil til means tell them now; wil skel feil means now and then. Which is the word
for wil in that code language? / b YT Car ‘l-ITEITﬁ, fil wil til pT 3% tell them now; wil skel feil T 31 now
and then BIAT g1 9 HIS HTHT B wil & T f5w TIeg &1 s¥vawma foear man 2

1. tell
2. nhow
3. then

4, them

Correct Answer :-

23) Which is the first month of the national calendar based on the Saka era? / [P Tad U YT TI'@TI'

BeISY BT YYH 1 DI 91 572
1. Shravana / 44Ul

2. Phalguna / BTd]q

3. Chaitra /%ﬁ

4, Magha / 9T

Correct Answer :-

e Chaitra /%3

24) Which of the following cities is NOT related to the automobile industry? / FH & § = 1
e AEIHETSd SN § THfe =8t 32

(8)



2. Pune/ H@f
3. Pithampur / GIUHYR

4, I‘[anagar/éal'_‘FI X
Correct Answer :-

. I‘[anagar/'sgal'_-FI 3

25) Complete the series choosing the missing letter/s: / TGl &R/ &R B TABT AT BT TR
WHifore:

CXEVG
1.T
2.R
3.U

4.L

Correct Answer :-

e T

26) Select the option that is true about the Statements and Conclusions given:

Statements:
Some balloons are balls
Parachute is a balloon

Conclusions:
I. Some balls are balloons
I1. Parachute is not a ball /

I fawey &1 9a+ Sifore wife g e sy ik sl & Tk # wgt 8:

BY:

PO TER G T

TR @ TERT©

frewd:

LPDICTAN T

11, TRIYe TP A TE &

1. neither conclusion I nor conclusion II follows / 7 &} fFIeeht 1 3R 71 &} Fh 11 SITERUT R §
(9)



3. only conclusion II follows / Had Fhy 11 STTHRUT pdl ?
4. only conclusion I follows / FHad ﬁWEfI STTIRUT Dl %

Correct Answer :-

« only conclusion I follows / Had sy 1 SR Dl %

27) Select the option that is true about the Statements and Conclusions given:

Statements:
No flower is a rose
Lily is a flower

Conclusions:
I Lily is not a rose
I1. All flowers are not lilies /

39 faweu o1 79 SR i 3y e w3k fFrewul & o & 9t &:
BYT:

PIg Wi el T T &

ferelt v wor @

forep:

1. feredt gerre 7€ €

11, 9 B forel 7 &

1. neither conclusion I nor conclusion II follows / 7 &1 F55Y 1 3R 7 &} F7pY 11 3[IXRUI HRdl &
2. both conclusion I and II follows / FISHY 1 3R 11 EHT SFTERUI R &

3. only conclusion 11 follows / Fad fISHY IT SFTIRVI FHRal §

4. only conclusion I follows / %ad FSHY 1 SFERUI Fal §

Correct Answer :-

« only conclusion I follows / ael FHY I 3FIIRUI BT &

28) +=> Multiply
* => Division

/ => Addition

- => Equal to
==>Minus /

+ => U
(10)



/ => Rl
- => P RN

==>Yclq

16*8/4+4
1. 16
2. 14
3.9

4. 18

Correct Answer :-

e 18

29) State Bird of Madhya Pradesh is / W& UaXI T Ie4 UaH &
1. Flycatcher / q?ﬂg%?

2. Peafox / UbIag

3. Hornbill / Bl-fad

4, Umaria / SANIT

Correct Answer :-

 Flycatcher / Wm

30) Meghnad Sahawasa______./WEAIGARITH _______ I
1. Economist / 3R

2. Physicist / Wﬁsﬂtﬁ

3. Historian / sﬁm

4, Painter / FEeR

Correct Answer :-

» Physicist / Wﬁﬂ:ﬁ

31) Consider a group comprising of 4 students : Reena, Beena, Meena, and Neena, who stand in
a row. Reen and Beena stand in 6th and 7th positions respectively from the left. Meena and

(11)



exchange their positions, then Beena will be 15th from the left. If Neena and Reena also
exchange their positions between themselves, then after the exchange, Neena's position from
the left will be: / 4 ST 471, F141, HAT 3R 1 & v 9 W AR &9, 5 ve Ui & @< &1 9
IR ST 1S 3R A HUM: 64 3R 74 R WX WSt § 1 T 3R 1, 318 SR | o= 1Y 3R Uigd R W
GSI €| 1T FHT 3R HHT S+ R B Srgant-agel Rl &, af a1 a1¢ | 1591 gt 1 afe == ofik Far o
T & R B SGAT-TG0 ! DY WAl 7, Al SGAT-TGell B o 916, T18 SR A 471 o FRUfar gt

1. 10
2. 11

3.6

4. None of the above /E"Tﬁﬁm:rsgf

Correct Answer :-

32) The series given below contains a sequence of numbers. Identify the incorrect combination: / EiE] é’rnﬁ

saen §, el o1 Ue HH IUFRI § | Tad Sae Ugdi-g:

1,5,5,9,7,11,11,15,12,17
1. 11
2.12
3.32

4.32

Correct Answer :-

e 12

33) The series given below contains a sequence of numbers. Identify the incorrect combination: / :ﬂ%a Tl'&F

siRaQ H, TBIeHl BT U HH IURY & | Ted TS Ugdi-g:
1,5, 14, 30, 55, 91, 141, 180, 344

1. 141

2.344

3.91

4, 180
Correct Answer :-

(12)



34) In a certain code boja deja aja means green fresh grass and kaja soja deja means fresh lime
soda .which is the word for fresh in that language? / T W PIS UTHT 'ef, boja deja aja b1 3
green fresh grass AUl kaja soja deja b1 31 ¥ fresh lime soda g1 31 £l IS U ¥ fresh & forQ fva
TS BT SEIATS [paT 4T 82

1. boja
2. gja
3. deja

4, soja

Correct Answer :-

* deja

35) R.K. Laxman, who passed away recently, was a . | 3R.&. e, S gra g § AT 8t
qbIe, T __ 3

1. musician / TP R
2. poet /ﬁ
3. dancer /W

4, cartoonist / BICIE
Correct Answer :-

« cartoonist / PIEITE

36) Select the option that is true about the Statements and Conclusions given:

Statements:
All dosas are idlis
Some poories are not dosas

Conclusions:
I. All idlis are poories
I1. Some poories are not idlis /

I fawey 31 9u+1 Fifre wife fau T sy ik sl & a1 & 98t 8:
HY:
It ST gset §

(13)



1. Wt gefomt gkt &

II. $5 QAT it 781 §

1. neither conclusion I nor conclusion II follows / = _Evpf Wﬁfl Gﬁ? - _Eapf sy 1T 3THRUT Hd %
2. both conclusion I and II follows / ﬁﬁh_ﬁf | GﬁT II aﬁr ST W %

3. only conclusion II follows / Had ey 11 STFURUT Dl g

4. only conclusion I follows / CRARL:A ST Dl g

Correct Answer :-

« neither conclusion I nor conclusion II follows / = Bof epy 1 3R T é:f frsepy 11 S{FERUT YA %

37) Select the option that is true about the Statements and Conclusions given:

Statements:
All cartoons are animations
Some animations are pictures

Conclusions:
I. Some cartoons are pictures
II. Some pictures are cartoons /

39 fIwer &1 91 ST fF AT 1T U=l ok sl & ar & I6t §:
BY:

qft Bréa TfiwE §

O gFaTH R §

e

L PEART S

II. $° R BT &

1. neither conclusion I nor conclusion II follows / 7 & T75HY 1 3R 71 & fAhd 11 3FTRTI v &
2. both conclusion I and I follows / &R 1 3R 11 GF STERUT A &

3. only conclusion II follows / Had fSHY 11 STHRUI T §

4. only conclusion I follows / HaT FT5HY I SFTERUI FAT §

Correct Answer :-

« neither conclusion I nor conclusion II follows / T B ey 1 3R T Bl sy 11 SR A %

38) Complete the series choosing the missing number: / &l TSI JAB Y&l Cal Rl Bifere:
(14)



31, 33, 36, 41, 48,
1. 50
2.55
3. 61

4.59

Correct Answer :-

« 59

39) Complete the series choosing the missing number: / & TG oG YT BI TRT BHOIC:

2,5,10,17, 26,
1.31
2.36
3.37

4. 35

Correct Answer :-

40) Complete the series choosing the missing number: / T TG FAB YT BI TT HHOI:

2,12, 6,36,18,
1. 108

2. 66

3. 84

4. 36

Correct Answer :-

« 108

Topic:- Mental Ability and Mental Aptitude

(15)



In the sequence shown below, which figure comes next? i ﬁ?} IR ey ?Qf KB 3‘1135% ieT AT

o , ST,
S AN A
/ N ;} { "-x~_*.a.‘;“": 2
e },_z" A
g\‘(’ﬁ Y ¢ \\_JJ
e, i o " A
1 1 i w

(16)



Ifthe following two squares shown below overlap, which one of the following options is formed? / 3T¢,

o & gdf 3fidcofg 819 & e & & ol 91 vs |Fed goar &7

| =

.
|
|
¥

1,
.
I
Rl 2
2.
- | ¥
3.
o
e
L 2
4. '

Correct Answer :~-

'

(17)



111 TIE SEqUETLCE SILOWWIL DELOW, WWILLCI IIFUIE COIMES ILEXL S/ oIS 1G9 gred o, 31911 J119ra el <l

A

¢ 2 U W 7?

5
. I‘

4) Find the distance covered by a train moving at a speed of 90 kmph in 10 mins. / 90 i ufa der Sl ara A

TA 9ot YS! gIRT 10 fiFTe ® 9 @1 8 g 9 S|
1. 900 km / 900 o,
2.15m/ 15 HIeR

3..900 m /900 HIex
4, 15 km / 15 Too T,

Correct Answer :-

e 15km /15 ToH,

5) A boat takes 1hr to cover a distance downstream, and 2 hrs to cover the same distance upstream. If the
speed of the stream is 2 kmph, then what is the speed of the boat in still water? / b -Td %rmaﬂi%'mﬁ Th
Fifa gt aa o A 1 ger adl 8, iR Ia+it 81 gt URT & faudia fomn & qu v o 2 6 @t g1 afe
YRT B a1 2 foelt. wir er 3, f fRR 51a 9 A19 ot 91a |n grie

1. 12 kmph / 12 o8, Ufd der
2. 6 kmph / 6 THT. U el
3. 10 kmph / 10 T T, Ufd ger

4. 3 kmph / 3 o8, Ufd der
(18)



« 6 kmph /6 foH. Ufd ger

6) Three men, X, Y and Z together can do a piece of work in 8 days, while X and Z together can do it in 12 days.
How long will Y alone take to do the same work? GG Gﬂa';ﬁ X, Yddrz Wﬂnfﬁlﬁ ﬁwmﬁ 8 ﬁ:ﬁ
W B IPd B, Tafd X TUT 2 W H B1 12 T A % IPa &1 3P d v 39 v fhaq A A Rraw
amm?

1. 28 days / 28 fe
2. 24 days / 24 Ta=
3. 16 days / 16 g

4. 20 days /20 fa=

Correct Answer :-

« 24days/24faq

7) The ratio of the number of boys to girls in a college is 5 : 6. If 25 % of the boys and 20 % of the girls are
scholarship holders, what percentage of students does not get the scholarship? (Approximately) / T HIae o

ASHI B BT BT ASTHa] DI AWAT A UTT 5:6 § | TS 25 % TSI 3 20 % ASIHAI B! BEGHT @
T8 8, d BEghy 7 UH a1 STH/STTSN BT (FRTHRT) UfRTd «m 82

1. 89%
2. 85%
3. 78%

4. 65%

Correct Answer :-

e 78%

8) A train is moving at a speed of 60 kmph. If the length of the train is 100 m, then how long will it take to cross

a railway platform 150 m Iong?/ww 60 %ﬁuﬁmﬁmﬁaﬁ?ﬁél QﬁWﬁm
100 |, 81, 9 9% 150 T, 9 Y9 Wew i &1 UR - § fora=n aaa aie

1. 10 sec/ 10 4h S
2. 15 sec/ 15 g
3. 18 sec/ 18 Yhs
4,12 sec/ 12 TS

Correct Answer :-

(19)



9) The cost of manufacturing an article includes materials, labour and overheads in the ratio of 4 : 3 : 2. If the
cost of labour is Rs. 45, find the total cost of the article and also profit percentage, if the article is sold for Rs.
180. / U I P ST ANTd # RTA, o7 a1 FafRra srfafved g anfire gia 8 et srgurd 4:3:2
21 9f¢ YW dRTd 45 $UA , 3R afe axg 180 TUA T 0t 715 o avg B T ANTT 9T 1Y Wia=Ia e
$II%|Q |

1
Rs. 135, 33—% /135 T4, 33-%

3 3
1,
1 1
Rs. 125, 20— %/ 125 399, 20-%
2 2
2.
1 1
Rs. 145, 23-% /145 T, 23-%
3. >

4. None of the above /mﬁ@aﬂgﬁ

Correct Answer :-

1 1,
Rs. 135, 335% /135 T9, 33-%
::l

10) 15 men can complete a work in 10 days. After 2 days, 9 more men joined them. In how many days will all of

them together complete the remaining work? / 15 aimtﬁwwﬁ 10 ﬁqﬁqﬁmm%l 2 ﬁ':fa'l—c{, 9
3R 3meHt S Hr R @ foT M1 3 Tft Rree? Qv 92 il B fha A § wmr e e

1.3
2.5
3.4

4.6

Correct Answer :-

* 5

11) An agent receives a commission of 1.5 % on the sale of each vehicle that he sells. If the commission was Rs.
90, what were the total sales? / T Toic T4 GRT a9 WM 910 YA a1+ UR 1.5 % HHIRI WIS HRT 81
Tfe IHBT HUIRM 90 TUY AT, df SUD| Fd faspt o fava- o2

1. 600

2. 6000
(20)



4. 900

Correct Answer :-

« 6000

12) A five liter acid is 80 % pure. How much water should be added to the acid in order to make its strength 70

%? (Approximately) / UTd HICX 31T 80 % Uk & | SD! ATHA BT 70 % B & fore sH (@14T) fHemr
T T ST e

1. 0.7 liter / 0.7 a X
2. 1.1 liter/ 1.1 AR
3. 1liter/ 1 e

4. 0.4 liter / 0.4 WX

Correct Answer :-

. 0.7 liter / 0.7 ¥leX

13) Gaurav Sanguly scored his maiden century with 10 boundaries and 6 sixes. Find the ratio of the runs scored
in fours and sixes to the runs scored while running between the wickets. /Tﬁwmﬁ SUAT Yg I AP 10
WP YT 6 TP AR HR T BT | Aipl 9 DFBI | §9TC 7T I a7 fydel & i § s HR 9918 7Y 341
BT 3T JTd PioTC|

1.19:6
2.19:4
3.10:9

4.6:5

Correct Answer :-

e 19:6

14) Which one of the following four addresses is NOT EXACTLY same as the one given below? /

e R T IR Tal # A R 3 1A 19 F St IuE i AT e T8 82

Hyva Holding B.V.
Antonie van Leeuwenhoekweg 37,
2408 AK Alphen aan den Rijn,

The Netherlands
(21)



(i) Hyva Holding B.V.
Antonie van Leeuwenhoekweg 37,
2408 AK Alphen aan den Rijn,

The Netherlands

(ii) Hyva Holding B.V.
Antonie van Leeuwenhoekweg 37,
2408 AK Alphen aan den Rijn,

The Netherlands

(iii) Hyva Holding B.V.
Antonie van Leuuwenhoekweg 37,
2408 AK Alphen aan den Rijn,

The Netherlands

(iv) Hyva Holding B.V.
Antonie van Leeuwenhoekweg 37,
2408 AK Alphen aan den Rijn,

The Netherlands

4. iii

Correct Answer :-

15) Find the average. / 39 fe1ferd|
101, 105,109, 113, 117 & 127
1. 109

2.112

(22)



4. 113

Correct Answer :-

o 112

16) Ramu bought an article for Rs. 300 and sold it for a gain of 15%. What is the selling price of
the article? / Y7 U® a3g 300 $UY H WIS YT $H 15% ATY TR 39 &t | a7 BT f9sha Goa 1 82

1. Rs. 345 / 345 S0
2. Rs. 350 / 350 ST
3. Rs. 360 / 360 ST

4. Rs. 340 / 340 30U

Correct Answer :-
e Rs.345/345 30

17) Evaluate: / %=1 &1 g Bifor:
6372 x 6372 + 6372 x 628

1. 44604000

2. 44607000

3. 44600000

4. 4406400

Correct Answer :-
« 44604000

18) The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: /

912 & 1< graen §, 3aRY 3R Femei o1 ve wH fftd §1 e Yo ygEie:
i.opqw20301qwop
il.opqw20301qwop
iil.opqx20301qwop
iv.opqw20301qwop
1. 1v
2.1
(23)



4. iii

Correct Answer :-

19) The present ages of three persons are in proportions 5 : 6 : 7. Six years ago, the sum of their ages was 54. Find

their present ages/ﬁﬁﬁ?ﬁﬁ?"ﬁﬁﬂfﬁSﬁﬂ&"ﬂﬂ'ﬂﬁﬁﬁ 63’&'“3@',3?3%3@3‘7[“ 54 AT| IADT
AU ST [T P

1. 20, 24, 28

2.22,24,26
3. None of the above /Eqﬁaafr@aﬂéqﬁ

4. 20, 22,30

Correct Answer :-

e 20,24,28

20) In an examination, Amit attempted five papers. His scores in the papers were in the ratio5:6:7 : 8 : 9 and each
paper carried the same maximum marks. The aggregate percentage for all the five papers was 69 %. In that case, the
number of papers in which Amit got more than 60 % marks was: / fa wuﬂ&nﬁmw ﬁv'[{l ITP
ERTUTUA § US| T SUTA5: 6:7: 8 : 9 8 TUT TS U=AUF F SUpan i war &1 gt ui

TR BT T 3R 69 % ATI A WRATH #3160 % A MR i ur farg, 399t e A &

1.3
2.5
3.4

4.2

Correct Answer :-

21) In doing a division of zero remainder, a candidate took 81 as divisor, instead of 18. The quotient obtained by him
was 6. The correct quotient is /Qﬁﬁmaﬁﬁw YT HRd 994, TH Wi 9 Uee & U H 18 & I
IR 81 g feam| SUF R U URTES 6 AT It UTTH e 1 §:

1. 26
2.27
3.24

4.25
(24)



o 27

22) A wire of length 15 cm is bent to make a rectangle. If the length of the rectangle is 5 cm, then its area would be:

/15 AT, FETS 919 U IR P HISHR Tob TId 191 47| Ffe 3d &1 dars 5 941 €, 9 S9P1 8% d
ﬁr‘fﬁTlT:

1.13.5sgcm/ 13.5 aﬁ@ﬁ’r
2.12.5sqcm/12.5 it et
3.12.25sqem / 12.25 i I,
4.16.9 sq cm / 16.9 a1 AL,

Correct Answer :-

e 12.5sqcm/12.5 ot I,

23) Out of 200 students in a school, 140 play cricket, 80 play tennis, and 20 neither play cricket nor tennis. The

percentage of students who play both is/wmﬁ 200 DT H A 140 W@ﬁ%%, 80 %ﬁ'\q@ﬁ%%, 3T
20 T ) fobdbe 3R 7 €t T Tara §1 fobdhe aur = g Weq a1 ol &1 ufasrd A 8:

1. 5%
2.15%
3. 20%

4. 10%

Correct Answer :-

24) Dhoni is older than Virat by 4 years. If their ages are in the respective ratio of 7:6. Find the age

of Dhoni. / 1t @ MY faRTE FY 3t 4 9 31w 81 Al IABT ST HUM: 7: 6 B U H &,
it =T B MY T BIfTT

1. 26
2.24
3.28

4. 36

Correct Answer :-

« 28



25) The runs scored by a batsman in 5 consecutive matches are 150, 0, 95, 15 and 25. Find the
average runs scored by the batsman. /WWW 5 TTAR A= A 150, 0, 95, 15 YT 25 3 IHATE T |
eI §RT ITT T 31 BT 3 J1d B

1.57
2. 54
3.52
4. 55
Correct Answer :-

« 57

26) What is the sum of the greatest '4-digit' and the smallest '5-digit' number? /4 3P1’ B ma@ﬁ

3R 5 3BT DI HTH BIET HRAT BT INT foha=11 §RIT?
1. 100000
2. 99999
3. 19999

4. 109999

Correct Answer :-

e 19999

27) On dividing a number by 666, the quotient is 200 and the remainder is 100. Find the number. / T

BT DY 666 T FAHUTIT H3I7 TR, HRTH S 200 3R ATHE 100 TS BidT & | H=AT J1d HIFOQ|

1. 122200
2. 133300
3. 100043

4. 144400

Correct Answer :-

e 133300

28) A company employs only couples. While the average monthly earning of the wives is Rs. 15,000
and their husband's is Rs. 25,000; then, what is the average monthly income of each employee in the

company? / T HU- Sad Siigl & faiora el 81 uferal 1 3iad e 314 15,000 TUA 8 3R 9%
gfaal $1 25,000 TUA €, 9 FH P UAP PHAR] P N 3T fpa-1 82

(26)



2. Rs. 40,000
3. Rs. 20,000

4. Rs. 22,500

Correct Answer :-

« Rs. 20,000

29) The ratio between Sohan's current age and his age after 24 years is 5 : 7. What will Sohan's age be

after 5 years? / TIg-T 1 TAH 3TY TUT IAD! 24 T & 1¢ P Y & AH UG 5: 781 579
916 e B 3Tg T gRI?

1. 60 years / 603@
2. 84 years/ 84 Y
3. 89 years / 89 9y

4. 65 years / 65 Ty

Correct Answer :-
e 65vyears/ 65 G

30) The average weight of 10 person's increases by 3 kg when a new person comes in place of one of
them weighing 70 kg. What is the weight of the new person? / 10 A & YR & 3itad | 3 fom. ot
gfs 99 31 STl 8 519 TS =741 faa 3-8 | fardt 70 fun. IR ame safed & AT UR 8 Siran
21 U AR T YR |1 32

1. 110 kg / 110 oo
2. 120 kg / 120 T,
3. 100 kg / 100 fobT.

4. 90 kg /90 T3,

Correct Answer :-

« 100kg/ 100 fo .

Topic:- Science and Simple Arithmetic

1)

(27)



Ho a HULNDCL sUClL LdL £ A —oo — a PUblLl‘-"'{: .L[J.LUE'CL. VY LLICIL QLIS L LGS 1D
necessarily true about #? s # ww W ¥ear § 5 # X —68 = uw g=icA® T HEAT B
e & ¥ # & fow oy e &7 § a8 §7

1. It can be any integer / T8 s 1t quf e 81 9« 71

2. It has to be a positive integer / 3 ¢TI YOI T BT AR

3. It has to be negative integer/%ﬁ BUMHD Eﬂf e g 1|

4, It has to be any integer between -68 and 68 / Sﬁ -68 TUT 68 b AL DI ﬁ'&c A @:ﬁ ?I'I%'EI

Correct Answer :-

« It has to be negative integer / Y BUTHAD ‘{UTQT@JT HelEIRY

2
) The value of —rl 228 oy (2TSEEQ3) oo g Sy
(2.75)24 2.75 x235+(2.25)2 (275)%+ 2,75 ¥2,264(2.25)%

1.0.5
2.3
3.0.3
4.5

Correct Answer :-
« 0.5

3) During internal fertilization, the process of fertilization occurs: / 3fiai¥® AT & Eﬁ'\"F-r, IELERK:d
wishar giel &:

1. onland/ 'J-L&IER
2. in the body of the female /AT & IRR A
3. inthe body of the male /RSP IWRHA

4. in water/ﬁﬁﬁ

Correct Answer :-

« in the body of the female / HIc] & MR A

4)
(28)



the total number of votes is: / T STaRT A 71% die gTia farar iz g1a o1 756 diel A Siarl afg agi €l
gari 3, @ oo diel o Gen e g:

1. 1800
2. 1852
3. 1840
4. 1750

Correct Answer :-

- 1800

5) Two chords AB and CD of a circle intersect each other at a point E outside the circle. If AB =
11cm, BC = 3cm and DE = 3.5cm, then CD = ./ T qcd DI &l SiaTd AB T4T CD TS gk Bl I
& 18X g E W ufofed #xdt 8193 AB = 1139}, BC =38, quiDE = 3.5 4.3 dt CD = gl

1.9.5cm/9.5 9,
2.9 cm/9 A,

3.10 cm/ 10 94T,
4, 8.5 cm /8.5 .

Correct Answer :-

. 8.5cm/8.5 M.

6) Cod liver oil obtained from fish is rich in: / TSl T U H1s-IPHd ad 390 TS siaT &
1. Vitamin C / faeTi®A ¢

2. Vitamins A and D / fae1f®H A &R D

3. Vitamin By / faeifiq By

4. Vitamin K / faeTfad K

Correct Answer :-

« Vitamins A and D / fae1f®= A 3R D

7) If x is a positive integer, which of the following expressions has the greatest value? / af¢ x T®h

FTHS Jui I3 7, @t e A 9 o e &1\ waifte 7 ghme

(29)



5
1.
:«:Xi
10
2.
1
X3
3.
3
%+ =
10
4.

8) A wheel of diameter 14cm completes 20 revolutions in travelling a distance from P to Q. What is
the distance between P and Q? / 14 UH. SIRT a1l T T Bl P I Q AP Pt gl T B H 20 IFHI TX
P USA B P aYUT Q & AH I gt faraeit 82

1. 880 cm/ 880 T,
2. 44 cm / 44 T

3. 3080 cm /3080 ST
4. 580 cm / 580 T,

Correct Answer :-

« 880 cm /880 IH.

9) A pole has 0.5 of its length in mud, 0.25 of its length in water and 2m above water. The total
length of pole is: / T WFH B TaTS BT 0.5 UTT PIIS A &, 0.25 HFT oI | § a1 2 W, Uit & SwR 81 TY
P P dars 2

1.8 m/8Hi.
2.6m/6H.
3.7m/7H.

4.4m/ 49

Correct Answer :-

« 8§m/8H



1. 941

2. 567

3. 652

4, 961

Correct Answer :-

« 961

50
40 |
30 [_]
70 ] G MNo. of students
10 ; BIAl hl TET
D |-
VInA VIHE VIIC WD VIIE VIF
Class /eR&T
1. VIIT A
2. VIII F
3. VIII B
4, VIITE

Correct Answer :-

« VIIIF

12) The measure of each angle of a regular hexagon is: / WWW%WWWWW

g e:
1,120

[+

2.90

(31)



o
4, 150
Correct Answer :-

. 120°

13) Magnetic compass needle is a best device as a direction finder, but it becomes useless at: /W

ST g3 w319 ¥ e wd s fEarsy &, af g8 e w srguaih gt o 2:
1. 66° North and South / 66° SR Ud G&f0T

2. Magnetic poles / T&Ib 1 ¢al

3. Magnetic equator / ¥ 1 &

4. 23.5° North and South / 23.5° IR T Sf&0r

Correct Answer :-

» Magnetic poles /W ?;Jﬁ[

14) A sum of money doubles itself at a compound interest in 3 years. In how many years it will become 8

times? / U YFRTIR, Tehgies ST WR 3 T4 A SRIHT 1 oITdl € 1 T8 YRR fara= auf ® 8 I Y wrgeile
1. 10 years /10 9§

2. 12 years/ 12 9§

3.9 years /9 aY

4. 8 years/SG'Ef

Correct Answer :-

. 9years/9a’5f

15) Which one of the following is a wrong match? lﬁﬂﬁ'ﬁﬁqwmm%"
1. Squamous satiated epithelium : skin / eh] Jdtd SUhdll @ oddl
2. Filling of space in between organ : cartilage / 3T P & H VI BT U : IUIRY

3. Fluid connective tissue: blood / TR TS SHdd : I

4. Adipose connective tissue : subcutaneous Iayer/a@'qﬂﬁl\_rﬁ S ; YT IR

Correct Answer :-

(32)



16) Name the phylum to which Crayfish belongs to? / 3 TS@H BT ITH Id15¢ oRIA $b AS ! (HIh=)
Hefira 82

1. Pisces / HX]
2. Echinodermata / Q$I$:i SIIiEI

3. Chordate/?\x_\rﬁ?f
4, Arthropods/m

Correct Answer :-

« Arthropods / Gf9UTg

17) Give a single biological term for a group of horses in an area. / Th aﬁ'ﬁ ﬂk‘ﬁ% '\‘I'H\'E'a?ﬁﬂl{ Thd
Sifa® ygfa garsul

1. Population / STEAT
2. Species/ﬂTrITI%P:IT

3. Family/UﬁTJﬂT

4., Herd /?51;3

Correct Answer :-

e Population / STEAT

18) What is meant by intervarietal hybridisation? / WHWWWW@W%?

1. Crossing between genetically dissimilar plants / WW@ ﬁlﬁ&f@f%@am

2. Crossing between two different species of the same genus /wﬁmﬁaﬁmwﬁu‘r & o BIRAT
3. Crossing between different genera /%Wﬁ%@am

4, Crossing between different varieties of plants /aﬁﬁ & fAfYs TpR & i HIRT

Correct Answer :-

» Crossing between different varieties of plants /ﬁ"cﬁ & ol IR & o wifki

19) Identify the tissue that is NOT simple permanent. / 3 &ddb 3l LEEIE] & Sl A= T T-Ig’f%l
1. Sclerenchyma / W

2. Xylem /\_.fﬁ@l'q

(33)



4. Collenchyma / PUNGED

Correct Answer :-

« Xylem / ST3@H

20) When the amplitude of vibration is large, sound produced is: / Td G BT SrmTHEIST@?IT%, Gl

Seutfera eaf ¥ gl &:

1. Feeble / &ur

2. Loud /3

3. Not heard / =181 AT ST T+ arai!

4. No relation between amplitude and sound / AT 3R @ & i HIE Gae 81 &

Correct Answer :-

e Loud /3=

21) Which of the following is NOT an antibiotic? / i Seataa el', CaE kil Qﬁm :lﬁ%"
1. Tetracycline / é@’lﬂﬁ?ﬁﬁ:{

2. Quinine / ﬁ:f

3. Chloromycin / Tﬁﬁmﬁ

4. Streptomycin / W@ﬁﬂ

Correct Answer :-

* Quinine / ﬁq

22) Which one of the following is NOT a micro-organism? / g ek CICk: Uh J&H Sia ﬂﬁ%’?

1. Bacteria /\_rﬁHT%
2. Yeast /’CﬁE

3. Amoeba / 3HTET

4, Mushroom / HRIH

Correct Answer :-

¢ Mushroom / HRX™H

(34)



T & W g1 I7d &aBdl BT Surd =18 :
1.1:1

2.1:2

3.1:14

4.14: 11

Correct Answer :-

« 14:11

24) 1f -72a%*b5c8+ # = 8a2b3c5, then # stands for: / Tfe -72a%b5c8+ # = 8a2b3c5, af # HT AN
= %:

1. 9a%b2c3

2. a%b3¢?

3. -9a%b%¢3

4. -8a%b2c3
Correct Answer :- |

. -9a2b2c3

25) If the angle of incidence is 65°, the angle of reflection will be: / af¢ 3mua= P07 65° %, @
RIS HI0T B

1. 45°
2. 25°
3. 65°

4, 35°

Correct Answer :-

o 65°

(35)
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The coefficient of the above reaction if balanced is: /39IeFd ITERT =0 TfE F@'ﬁiﬁ Trar

ST, dT SEeRT VT &

1.1:2:1:1

2.2:2:1:1

3.1:2:1:2

4.2:1:1:2

Correct Answer :-

o« 2:1:1:2

27) Polar ice caps may melt due to: / ﬂ?ﬁq I6 ot 3'\‘!%3 HRY fUgd goa %
1. Acid rain / 3% 9§

2. Green house effect / F-gI3Y UHE

3. Depletion of ozone layer / 3T TR &1 g
4. All of the above / STRIad T4t

Correct Answer :-

« Green house effect / FF8RET UHE

28) If a number is doubled, then its cube is x times the cube of the given number. The value of x
is: / Ofe TP Y=AT BT SRHT R 14T ST, oY 39S U <1 75 =T & U1 BT x 1 8T g1 @l x BT A
= él‘ll:

1.2
2.4
3.8

4. 12

Correct Answer :-

(36)
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e = e = Tt S

7w &7 #, AB||CD. 9fg £LBAO =60°a=m 20CD =110°, @ LAOC =

o ,-'I""\..A_

c

1.50

[+

2. 60

c

3.70

[+

4.75

Correct Answer :-

c

« 50

30) If the angle of incidence is 40°, then the angle of reflection will be: / e e+ HI0T 40° %, ar

TRTE 0T GRIT:
1.0°

2. 40°

3.20°

4. 80°

Correct Answer :-

. 400

(37)



